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Grade 4 Math Worksheet: Division (Difficulty Level: Intermediate)

Name:
Date:

Part A: Basic Division Problems
Solve each division problem.

1. 72+6 =

2. 45+9=
3. 56+7=
4. 64+8=
5. 81+9=
6. 96 +12 =
7
8
9
1

. 48+6=
. 63+7=
. 90+10=
0.54+9=

Part B: Division with Remainders

Solve each problem. Write the answer with any remainder.

1. 55+6 = , Remainder =
2. 97 +8= , Remainder =
3. 78+7= , Remainder =
4, 56 + 5= , Remainder =
5. 1M12+9= , Remainder =
6. 88+7= , Remainder =
7. 74+6= , Remainder =
8. 95+8= , Remainder =
9. 123+5= , Remainder =
10.81+10 = , Remainder =
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Part C: Word Problems

1.

A soccer team has 96 players. They want to divide into teams of 8 players. How
many teams will there be?
Answer:

. There are 63 books in the library. If each shelf holds 7 books, how many shelves

are needed?

Answer:

There are 120 cupcakes. If 10 friends want to share them equally, how many
cupcakes does each friend get?

Answer:

A baker bakes 104 cookies. He packages them in boxes that hold 8 cookies
each. How many boxes will he fill?

Answer:

A class has 144 students. If they are grouped in sets of 12, how many groups will
there be?

Answer:

Part D: Fill in the Blanks

= 000NN

80 + =8
+6="11
63 + =
+9=10
72 + =12
99 + =11
+4=15
96 + =12
48 + =
+3=14
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